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1. Find the value of 

A. 5.181

B. 3.354

√11.981 + 7√1.2996

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_QC0kcAE2Nsqv


C. 4.467

D. 4.927

Answer: C

Watch Video Solution

2. What is the least number that must be added

to 1901 so that the sum may be a perfect square

is

A. 35

B. 32

https://dl.doubtnut.com/l/_QC0kcAE2Nsqv
https://dl.doubtnut.com/l/_cNvrmVLsTPJU


C. 30

D. 29

Answer: A

Watch Video Solution

3. The positive square root of 45.5625 is

A. 5.25

B. 5.65

C. 6.35

https://dl.doubtnut.com/l/_cNvrmVLsTPJU
https://dl.doubtnut.com/l/_lMxibhxZDCY6


D. 6.75

Answer: D

Watch Video Solution

4. The least perfect square number which is

divisible by each of 21,36 and 66 is

A. 213444

B. 214344

C. 214434

D. 231444

https://dl.doubtnut.com/l/_lMxibhxZDCY6
https://dl.doubtnut.com/l/_ZSKuZqYnEhdC


Answer: B

Watch Video Solution

5. The square root of  is

A. 

B. 

C. 1

D. 0.58

Answer: C

W t h Vid S l ti

0.3 + 0.21 + 0.49

√0.09 + √0.49

2√0.21

https://dl.doubtnut.com/l/_ZSKuZqYnEhdC
https://dl.doubtnut.com/l/_UBVHRB0NYOI3


Watch Video Solution

6. The least integer that must be added to

 to make it a perfect square is

A. 9

B. 8

C. 7

D. 6

Answer: A

Watch Video Solution

(9798 × 9792)

https://dl.doubtnut.com/l/_UBVHRB0NYOI3
https://dl.doubtnut.com/l/_nJTppnEk3SRL


7. Assume that 

=3.605 (approximately) 

=11.40 (approximately) 

Find the value of: 

A. 36.164

B. 37.304

C. 36.304

D. 37.164

Answer: B

W t h Vid S l ti

√13

√130

√1.3 + √1300 + √0.013

https://dl.doubtnut.com/l/_kh1xspRSiBNU


Watch Video Solution

8. The digit
 in the units place in the square root

of 15876 is
(a) 2 (b) 4 (c) 6
(d) 8

A. 8

B. 6

C. 4

D. 2

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_kh1xspRSiBNU
https://dl.doubtnut.com/l/_6hCJKetu0Ws3


9. The
smallest number to be added to 680621 to

make the sum a perfect square is
 (a) 4 (b) 5 (c) 6

(d) 8

A. 4

B. 5

C. 6

D. 8

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_chtrkQ5LeKK8
https://dl.doubtnut.com/l/_vf0beqoSeLzx


10.  is

equal to

A. 0

B. 2

C. 1.596

D. 0.404

Answer: B

Watch Video Solution

√(0.798)2 + 0.404 × 0.798 + (0.202)2 + 1

https://dl.doubtnut.com/l/_vf0beqoSeLzx


11. What is the
 least number which should be

subtracted from 0.000326 to make it a perfect

square?
 (a)
 0.000002 (b) 0.000004 (c) 0.02 (d)

0.04

A. 4.0E-6

B. 2.0E-6

C. 0.04

D. 0.02

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_NO5UsXewheJ6


12. Each member of a picnic party contributed

twice as many rupees as the total number of

members and the total collection was Rs. 3042.

The number of members present in the party was

A. 2

B. 32

C. 40

D. 39

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_NO5UsXewheJ6
https://dl.doubtnut.com/l/_vCJ6fpVzqqqv


13. What is the least number which must be

subtracted from 10420 to make it a perfect

square?

A. 219

B. 200

C. 189

D. 16

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_vCJ6fpVzqqqv
https://dl.doubtnut.com/l/_dbTVIfcFK8Lk


14. . So k is equal to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

√86.49 + √5 + k2 = 12.3

√10

2√5

3√5

2

https://dl.doubtnut.com/l/_dbTVIfcFK8Lk
https://dl.doubtnut.com/l/_15PpNT4QkWjB


15. The number whose square is equal to the

difference of the squares of 75.15 and 60.12 is

A. 46.09

B. 48.09

C. 45.09

D. 47.09

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_PrN5NKDa7dZz


16. If 
 , then 
 is

equal to
 
(b) 
(c) 
(d) None of
these

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

√1369 + √. 0615 + x = 37. 25 x

10− 1 10− 2 10− 3

10− 1

10− 2

10− 3

10

https://dl.doubtnut.com/l/_eeVjSh1xE58L


17. If 
 , 
 and 
 being

positive whole numbers, then the values of 
and


 respectively
 are
 (a) 8,
 5 (b) 15, 12 (c) 22, 19 (d)

None of these

A. 8,5

B. 15,12

C. 22,19

D. 6,8

Answer: A

Watch Video Solution

√(x − 1)(y + 2) = 7 x y

x

y

https://dl.doubtnut.com/l/_LLKLryHSwvid


18. If , then 

 is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

√0.04 × 0.4 × a = 0.004 × 0.4 × √b

a

b

16 × 10− 3

16 × 10− 4

16 × 10− 5

16 × 10− 2

https://dl.doubtnut.com/l/_LLKLryHSwvid
https://dl.doubtnut.com/l/_tkieZLLHVmvl


19. If 
 , then the
 value of 


 is
 (a)
 0.1039 (b) 0.2078 (c)

1.1039 (d) 2.1039

A. 0.1039

B. 0.2078

C. 1.1039

D. 2.1039

Answer: C

Watch Video Solution

a = 0. 1039

√4a2 − 4a + 1 + 3a

https://dl.doubtnut.com/l/_01s51T5r7lYq
https://dl.doubtnut.com/l/_4q5nHxjyFOKL


20. If 
 and 
 ,

then 
is
 
(b) 81 (c) 87 (d) None

of these

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

3a = 4b = 6c a + b + c = 27√29

√a2 + b2 + c2 3√29

3√29

81

87

29

https://dl.doubtnut.com/l/_4q5nHxjyFOKL


21. If then 

A. 13.41

B. 20.46

C. 21.66

D. 22.35

Answer: D

Watch Video Solution

3√5 + √125 = 17.84 √80 + 6√5 =

https://dl.doubtnut.com/l/_0eszj2zhdHR3


22. The number of trees in each row of a garden is

equal to the total number of rows in the garden.

After 111 trees have been uprooted in a storm,

their remain 10914 trees in the garden. The

number of rows of trees in the garden is

A. 100

B. 105

C. 115

D. 125

Answer: B

W t h Vid S l ti

https://dl.doubtnut.com/l/_PWMrAQrs4TwB


Watch Video Solution

23. If the
 product of four consecutive natural

numbers increased by a natural number 
 , is a

perfect square, then the value of 
is
(a) 1 (b) 2 (c)

4
(d) 8

A. 8

B. 4

C. 2

D. 1

Answer: D

p

p

https://dl.doubtnut.com/l/_PWMrAQrs4TwB
https://dl.doubtnut.com/l/_S7G7ynRtq0TU


Watch Video Solution

24.  is equal to

A. 0.02

B. 0.2

C. 2

D. 0.04

Answer: D

Watch Video Solution

3√(0.000064)

https://dl.doubtnut.com/l/_S7G7ynRtq0TU
https://dl.doubtnut.com/l/_6n4gtACmY9vo
https://dl.doubtnut.com/l/_obvCqkkyWOvE


25. . The value of x is

A. 8

B. 16

C. 32

D. 64

Answer: D

Watch Video Solution

2√ 3√x × 0.000001 = 0.2

https://dl.doubtnut.com/l/_obvCqkkyWOvE


26. The digit in the units place in the cube root of

21952 is

A. 8

B. 6

C. 4

D. 2

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_OS0qeXxkoV5i


27. Cube root of a number when divided by 5

results in 25 what is the number?

A. 5

B. 

C. 

D. 

Answer: B

Watch Video Solution

1253

52

125

https://dl.doubtnut.com/l/_9TqVpoTV54IY


28. The smallest of

 and 

is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

√8 + √5, √7 + √6, √10 + √3 √11 + √2

√8 + √5

√7 + √6

√10 + √3

√11 + √2

https://dl.doubtnut.com/l/_xCL9a7m2bxFK
https://dl.doubtnut.com/l/_WReuqQlGurVd


29. The
 smallest positive integer 
 , for which


is a
perfect cube, is
(a) 1 (b) 2 (c) 3 (d) 4

A. 1

B. 2

C. 3

D. 4

Answer: B

Watch Video Solution

n

864n

30.  is equal to3√ 3√a3

https://dl.doubtnut.com/l/_WReuqQlGurVd
https://dl.doubtnut.com/l/_gVXlLf7fkqUM


Self Assessment Sheet 4

A. a

B. 1

C. 

D. 

Answer: C

Watch Video Solution

a1 / 3

a3

https://dl.doubtnut.com/l/_gVXlLf7fkqUM


1. If 
 , 
 and 
 being

positive whole numbers, then the values of 
and


 respectively
 are
 (a) 8,
 5 (b) 15, 12 (c) 22, 19 (d)

None of these

A. 8,5

B. 15,12

C. 22,19

D. None of these

Answer: A

Watch Video Solution

√(x − 1)(y + 2) = 7 x y

x

y

https://dl.doubtnut.com/l/_E7xRANM7pzcT


2. Simplify:

.

A. 1

B. 2

C. 3

D. 4

Answer: D

Watch Video Solution

√[(12. 1)
2

− (8. 1)
2] ÷ [(0. 25)

2
+ (0. 25)(19. 95)]

https://dl.doubtnut.com/l/_E7xRANM7pzcT
https://dl.doubtnut.com/l/_drw6XUKjJTox


3. Consider the following values of the three

given numbers  


1. 10.1489 (approx) 

2. 10.109(approx) 

3. 9.967 (approx) 

The correct sequence of these values matching

with the above numbers is

A. 1,2,3

B. 1,3,2

C. 2,3,1

D. 3,1,2

√103, √99.35, √102.20

https://dl.doubtnut.com/l/_OJyC2BKgF8jQ


Answer: B

Watch Video Solution

4. What value should come is place of the

question mark (?) in the following equation? 

A. 16

B. 2

C. 4

D. 32

48√? + 32√? = 320

https://dl.doubtnut.com/l/_OJyC2BKgF8jQ
https://dl.doubtnut.com/l/_Ch11xSKJaEm8


Answer: A

Watch Video Solution

5. Which is greatest  ro ?

A. 

B. 

C. both are equal

D. None of these

Answer: B

W t h Vid S l ti

(√7 + √10) √3 + √19)

√7 + √10

√3 + √19

https://dl.doubtnut.com/l/_Ch11xSKJaEm8
https://dl.doubtnut.com/l/_3ag2LN0UzjRI


Watch Video Solution

6. Find the least number which if added to 17420

will make it a perfect square?

A. 3

B. 5

C. 9

D. 4

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_3ag2LN0UzjRI
https://dl.doubtnut.com/l/_NemxYf0XQh51


7. Calculate the value of N in the given series and

then find the value of x suing the given equation. 




If , then x equals

A. 20.5

B. 20

C. 21.5

D. 21

Answer: D

Watch Video Solution

99    163    N    248    273    289

√2N + 17 = x

https://dl.doubtnut.com/l/_ifOIqgedNxRN


8. The largest number of five digits , which is

perfect square is

A. 99900

B. 99856

C. 99981

D. 99801

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_ifOIqgedNxRN
https://dl.doubtnut.com/l/_96qiTzXFucJv


9. If  then x equals

A. 1367631

B. 1366731

C. 1367

D. 111

Answer: A

Watch Video Solution

99 × 21 − 3√x = 1968

https://dl.doubtnut.com/l/_mHdNJUFESe5M


10. If p = 999, then the value of

 is

A. 1000

B. 999

C. 1002

D. 998

Answer: A

Watch Video Solution

3√p(p2 + 3p + 3) + 1

https://dl.doubtnut.com/l/_BNFbD1EWTzMs

